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8. Consider the four electrical devices described in the table bellow. Which is most energy efficient, if they are
all used for the same amount of time? (4)

P=V\= 1Zox(5 = (BoO W

— |So0 W

¥ lowest.

V=Y

DEVICE | CHARACTERISTICS
1 120 V 15A
2 120 V 1500 W
3 240V 200
4 240V 1.85 kW

=V - 240 - 12A

R 0

P=Vl=240x(2 = 23%0 W

Device b;

=7 1.35 W y(ooo= (RSO W

9. Consider this circuit. (2)

/|
.

What would happen to the current intensity if the 15 Q resistor were replaced by
a 10 Q resistor? (circle one)
v e Decrease
aAAAA What would happen to the current intensity if the battery were replaced with a 3V
15 Q battery? (circle one)

Increase

Decreas

10. Circle the circuit that has the ammeter and voltmeter connected properly. (2)

A j B. ﬁmj . l@iv@@
L

L
mﬂw |
12. Using the information given in the table below calculate the total energy used to operate all three items. (4)

_ " AWy
vbo = \B0Os

ltem #1 9V 05A 30 min
ltem #2 120V | 1300W | 1.5min | x Go -Q0Os
Item #3 120V 40 Q 90 sec

_
OAQH/:H 2x0.S =4.5W

E=Pob - 4.5 x(800 = _.MWHAOOUV

® c=pat = 1200x40 = | 117 0005
(3) V=R 1=N_.12° .24
&~ %o
P=J\ = 2o x3 = 260

M2

E=Pot =360x70=[324003)

9100 + 17000 + 3240 Jyr\mrq mooj




